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A. :
All quadratics can be solved by the quadratic formula which is :
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All quadratics have a vertex so A u ____ Quadratics can be solved by ‘zzf)mp!cfmg the square.”
To most people, this process 1s a simpler altemnative to the quadratic formula.

( Thcre 1s one more alternative to the quadratic formula that we will learn in the next part, but it does
NOT work for ALL quadratics.)

B. Solve each of the following by completing the square. Remember to complete the square you want the
a and b terms to be alone on the same side (Also tell what your answer represents. )
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X234 26 or X =3 mod
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